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Chemical Reaction
6H>0 + 6CO, =» CcHhO¢ + 6 Oy

Carbon Dioxide
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6H->0 + 6CO,; =» C¢H|7nO¢ + 6 O)




6H->0 + 6CO,; =» C¢H|7nO¢ + 6 O)
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Atoms

|

Molecules

Tantalum
180.95

R . Gerium
If this number is in parentheses, then

it refers to the atomic mass of the
most stable isotope

Thorium
232.04

Empirical Formula

Uranium
238.03

Key

Atomic nurmber
Element symbol
Element name

Average atomic mass*

Rhodium
10291

Platinum | G ercury | Thallium
185.08 . 204.38

Gadolinium
157.25

Curium
(247)
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Gravimetric Analysis
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Gravimetric Analysis
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2AgNO3(aq) + CaCly(ag) = 2AgCl(s) + Ca(NO3)2(aq)

Analyte
5.71 g AgCl | mol AgCl “ | mol CaCl; “ 110.98 ¢ CaCl,
e — X - _ —_—
| 143.32 g AgCl 2 mol AgCl | mol CaCl;

2.21 g CaCl,

Chlorine Calcium
35.45 40.08

Analyte Mass Analyte Moles * Precipitate Moles * Precipitate Mass

47
e 571 g AgCl

107.87




You Iry

2AgNO3(aq) + CaCly(ag) = 2AgCl(s) + Ca(NO3)2(aq)
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2NaOH + H,C, 04 =—» Nay(C,0O4 + 2 HO

| .00 Molar NaOH

Titration Curve (oxalic acid/NaOH)

Phenolphthalein
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2NaOH + H,C, 04 =—» Nay(C,0O4 + 2 HO

30.0mLsoin | |ite<oln | mol N>2CH | mol.lH,C504
) G mm—— e
| 000 mlL.sain | Litzi=soln 2 mel-tqaOH

90.0 g H2C,04

X———— = |.35 g H,C,04

Titration Curve (oxalic acid/NaOH)

1
H

Hydrogen
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You Iry

How much of the analyte
(H2C204) is present if 25.0 mL

of .50 M NaOH is required to
reach the equivalence point.
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Did you learn?

Chemical Reaction
6H;0 + 6CO; =» CcH 2,06 + 6 O

To apply the conservation of
atoms In various processes.

bozemanscience.com



Did you learn?

Solution

~

Analyte

(unknown) \

Solution

~

Precipitate

(known )\

To use gravimetric analysis to
determine the concentration of
an analyte in a solution.
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Did you learn?

.00 Molar NaOH

Phenolphthalein

H,C,04

. / (anylate)

To use a titration to
determine the concentration
of an analyte in a solution.
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